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— YEEREMMANE, HfP=2qa,m=qa?/2. (104})
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T BRI R TR, BORHR SR R E=200GPa, JHAA EEp=0.25,
BORERNTST, RPNy, JR&GNAE, JFE iz HFE. (104))
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PO H &P B A ABC, WK . q=2.5nKN/m, ABBL [,
[0]=160MPa, #L=10d, P=qL,iAikitABEMERd. (155)




T BRI, EDRWEL, WORBEECKA Widum AN A CRith) &3y
NG H M) (124))
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7~ BURBRH ZHE AR AT, #mf P alLifE ABC # EBgh. 24k
M VF S B IE R f1 A1 [o]=10Mpa, VR8I Ji[t]=1Mpa, K& _EFVFRHEY
W Jj[t]=0.34Mpa, a=1m, b=10cm, h=5cm, &K n]#E[Pl. (10 43)
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£ BaR—HERENRN ABC, Hit AB N5l B # i/ D=76mm,



d=68mm, BC A9L.LRE# AT D,=20mm, FiTFEHF, 0,=200Mpa,
0,=235Mpa, E=206Gpa. BUREZLZE n=1.5, REZRLZE n,=4.
IR R G=20KN, AN &% /AR ho,=304-1.12A (Mpa). iK%
beesita. (15 43)
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A KPS ABC b H#EAT, fE C B EJiH—E 4 DK, #1%n DK 4F
F 7 A i AB I BC BAGBUHLINREAGE2S MIE Ry GLo Al EL H Gl= EL

2El
FF DK Hisifl A EA, H EA=7"5 . K

(1) 7£ AB BeAT i B mfinZe KR, AvfE C SlLFS D s % k?
(2) # Cv D WisifliZf)s, MEHER C. D PisEE—E, EZHRERT
IR, >Rk DX FFPA 6 4 ) A0 1 g skt A i LRI . (15 43)
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TEERFAL T, “FIINTT O AR ST Ope (5 43)
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